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55,567,554 15.3 543,884 101.0
25,794,721 7.1 2,183,704 108.5
11,593,889 3.2 18,371 100.2
150,000 0.0 150,000 200.0
141,500,000 38.9 3,052,000 102.2
123,979 0.0 6,021 104.9
504,317 0.1 A1 47,440 70.8
4,077,933 1.1 A225,970 94.5
67,011,387 18.4 A16,159,726 75.9
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640,66 2 0.2 Ad41,540 93.5
15,699,086 4.3 A5,260,817 6 6.5
2,000,000 0.5 A1,900,000 5.0
8,326,994 2.3 AT19,843 91.4
29,609,000 8.1 A10,082,000 65.9
5,300,000 1.5 A3,699,000 30.2
24,309,000 6.7 A6,383,000 73.7
364,005,675 100.0 A28,978,983 92.0
146,800,000 40.3 A647,000 99.6
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881,998 0.2 12,209 101.4
33,396,077 9.2 A2,917,119 91.3
50,390,671 13.8 1,150,415 102.3
27,994,460 7.7 A4,503,697 83.9
2,262,918 0.6 91,172 104.0
22,934,168 6.3 A2,162,161 90.6
18,090,774 5.0 A4, 172,072 76.9
46,608,048 12.8 A13,945,737 70.1
17,072,252 4.7 Al123,961 99.3
62,911,657 17.3 A2,161,930 96.6
5,067,259 1.4 Al,849,1638 63.5
50,480,586 13.9 334,412 100.7
25,764,807 7.1 1,268,654 104.9
150,000 0.0 0 100.0
364,005,675 100.0 A28,978,983 92.0
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18,859,109 5.2 A5,515,332 70.8
246,257 0.1 52,027 121.1
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50,400,282 13.8 348,135 100.7
2,289,379 0.6 741,637 132.4
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364,005,675 100.0 A28,978,983 92.0
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